Knights and Princesses — Quiz 1

Name:
Questions Answer A Answer B Answer C
A joust involved knights 3 lance 3 mace 3 sword
fighting on horseback using...
spa-rm: dwtﬂzdﬁréabtrﬁgg Egﬁte d the drawbridge the gatehouse the dungeon
Which of these could you use | der hol b .
to attack a castle? arrow loops murder holes attering ram
Which f?rfetgfffwvﬁt'(l)i%ou not arrow loops battlements garderobes
Castles usually belonged to... fletchers blacksmiths lords
It was an easy process to
become a knight. True False
Questions from previous topics
Which of these is not a . .
continent of the world? Africa Asia Angola
A carnivore eats... plants meat meat and plants

What happened to Endurance?
(Ernest Shackleton’s ship)

It started to leak.

It sailed to the wrong
location.

It got stuck in the ice
floes.

Which of these is not a life
process?

Feeling emotions

Movement

Reproduction

The mayor of London during
the Great Fire was...

Samuel Pepys

Thomas Bludworth

Thomas Farriner

The property of blocking light
is...

absorbent

transparent

opaque

Which of these is a human
feature?

grassland

desert

harbour
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